94

@
) D

TCTCut Off Saw

| .
o)
i
Q.
©
1
Tp)
n
m
c
(o)
I;
=
(o)
>
LLl

=)
n
-
0
-+
| -
©
o
)
O
>
| -
)
2

159

158(6)

156(2) 157

153(2)

91

104
102
101
100
99
%

98
97




S G . i
E€VOLUTION P35

Evolution Eliminator/Raptordbh - 14" Chop Saw

ITEM# PART#  DESCRIPTION ITEM# PART#  DESCRIPTION

SPCS931401  Safety Cover 46 SPCS931446  Cord Clamp

SPCS931402  Tooth Lock Washer 47 SPCS931447 D Handle (Right)
SPCS931403 Hex Socflat 48 SPCS931448  Hex Nut

SPCS931404  Spring 49 SPCS931449  Pan Head Screw M5 x 12
SPCS931405 M4 x 8mm Pan Head Screw 50 SPCS931450  Lock Washer
SPCS931406  Lever 51 SPCS931451  End Cover

SPCS931407  Shoulder Screw 52 SPCS931452  Pan Head Screw M5 x 12
SPCS931408 Small Blade Guard 53 SPCS931453  Self-Tap Pan Head Screw
SPCS931409  Lever 54 SPCS931454  Self-Tap Pan Head Screw
SPCS931410  Spacer 55 SPCS931455  Motor Housing
SPCS931411  Pan Head Screw & Washer 56 SPCS931456  Rubber Pin

SPCS931412  Protection Plate 57 SPCS931457  Brush Holder
SPCS931413  Bearing Cover 58 SPCS931458  Brush Set

SPCS931414  Flat Head Screw 59 SPCS931459  Brush Cap

SPCS931415  Extl Retaining Ring 60 SPCS931460  Shoulder Screw
SPCS931416  Spring 61 SPCS931461  Jumper Wire
SPCS931417  Screw (M4 x 8mm) 62 SPCS931462  Sleeving

SPCS931418  Big Blade Guard 63 SPCS931463  Chain Hook

SPCS931419  Spacer 64 SPCS931464  Field Assembly
SPCS931420 Flange 65 SPCS931465  Hex Head Screw & Washer
SPCS931422  Flange 66 SPCS931466  Baffle

SPCS931423  M10 Flat Washer 67 SPCS931467  Ball Bearing
SPCS931424  Spacer 68 SPCS931468  Armature

SPCS931425  Hex Soc Head Screw & Washer 69 SPCS931469  Ball Bearing
SPCS931426  Flat Washer 70 SPCS931470  Rubber Pin

SPCS931427  Cover 71 SPCS931471  Inner Gear Housing
SPCS931428  Pan Head Screw & Washer 72 SPCS931472  Stop

SPCS931431  Tooth Lock Washer Ext 73 SPCS931473  Ball Bearing
SPCS931432  Pan Head Screw 74 SPCS931474  Spring

SPCS931433  Stop 75 SPCS931475  Lock Pin

SPCS931434  Pan Head Screw 75A  SPCS931475A Lock Pin Knob
SPCS931435  Cord Guard 76 SPCS931476  E-Ring (ETW)
SPCS931436  Pan Head Screw M5 x 18 77 SPCS931477  Stop

SPCS931437  Tooth Lock Washer Ext 78 SPCS931478  Front Gear

SPCS931438  Power Cord 79 SPCS931479  Square Key

SPCS931439  Self-Tap Pan Head Screw 80 SPCS931480  Gear Shaft

SPCS931440 Pan Head Screw & Washer 81 SPCS931481  Ball Bearing

SPCS931441  Self-Tap Pan Head Screw 82 SPCS931482  Back Gear

SPCS931442 D Handle (Left) 83 SPCS931483  Stop

SPCS931443  Self-Tap Pan Head Screw 84 SPCS931484  Ball Bearing
SPCS931444  Switch 85 SPCS931485  Pin

SPCS931445  SCR PN CR M4 x 1.4-16 86 SPCS931486  Outer Gear Housing

Call for Pricing and Part Availability - Toll Free: 866-EV0O-TOOL

0NN AW~




@VOLUTION'

Service
Parts List

Evolution Eliminator/Raptordbh - 14" Chop Saw

ITEM# PART#

87
88
89
90
90A
91
92
93
94
97
98
99
100
101
102
103
104
105
107
108
111
112
113
114
115
117
118
119
120
121
122
123
124
125
127
128
129
130
131
132
133
134

SPCS931487
SPCS931488
SPCS931489
SPCS931490
SPCS931490A
SPCS931491
SPCS931492
SPCS931493
SPCS931494
SPCS931497
SPCS931498
SPCS931499
SPCS9314100
SPCS9314101
SPCS9314102
SPCS9314103
SPCS9314104
SPCS9314105
SPCS9314107
SPCS9314108
SPCS9314111
SPCS9314112
SPCS9314113
SPCS9314114
SPCS9314115
SPCS9314117
SPCS9314118
SPCS9314119
SPCS9314120
SPCS9314121
SPCS9314122
SPCS9314123
SPCS9314124
SPCS9314125
SPCS9314127
SPCS9314128
SPCS9314129
SPCS9314130
SPCS9314131
SPCS9314132
SPCS9314133
SPCS9314134

DESCRIPTION

Pin (230X20)
Square Key
Spindle

Ball Bearing
Seal

Flat Washer

Pin

Vise Jaw

Flat Washer
Self-Locking Nut
Knob

Handle

Plastic Knob
Ring

Vice Screw

Pin

Support

Chain

Hex Soc Head Screw & Washer
Setting Up Piece
Vice Plate

Flat Washer
Lock Washer
Bolt

Hex Soc Head Screw & Washer
Washer Flat
Scale

Drive Screw
Washer

Nylon Nut
Bushing

Flat Washer
Spring

Flat Washer

Hex Soc Head Screw & Washer
Flat Washer

Set Screw

Brace Bracket
Wire Connect
M8 x 45mm Hex Head Screw
Set Screw
Nut M8 x 1.25

ITEM# PART#

135
136
137
138
139
140
141
142
143
153
156
157
158
159
160
161
162
163
164
165
167
168
169
170
172
173
174
177
178
179
191
192
214
217

SPCS9314135
SPCS9314136
SPCS9314137
SPCS9314138
SPCS9314139
SPCS9314140
SPCS9314141
SPCS9314142
SPCS9314143
SPCS9314153
SPCS9314156
SPCS9314157
SPCS9314158
SPCS9314159
SPCS9314160
SPCS9314161
SPCS9314162
SPCS9314163
SPCS9314164
SPCS9314165
SPCS9314167
SPCS9314168
SPCS9314169
SPCS9314170
SPCS9314172
SPCS9314173
SPCS9314174
SPCS9314177
SPCS9314178
SPCS9314179
SPCS9314191
SPCS9314192
SPCS9314214
SPCS9314217

DESCRIPTION

Pan Head Screw & Washer
Nut

Shaft

Special Nut

M8 x 45mm Hex Head Screw
8mm Hex Wrench

Wrench Holder
6mm Hex Wrench

Wrench Holder

Pad

Pan Head Screw & Washer
Base

Pan Head Screw & Washer
Support Plate

Chip Box

Special Screw (Raptor #161)
Flat Washer

Lock Washer

Knob

Wing Screw

Cable Grommet

Cover

Set Screw

Pin

Shoulder Screw

Shoulder Screw

Shoulder Screw

Cable Tie

Jumper Wire

Fiber Plate

Hex Soc HD Screw for V-Jig Vise
V-JIG Vise

Brace Bracket

Lever

Call for Pricing and Part Availability - Toll Free: 866-EV0O-TOOL




	355.pdf
	Eliminator-Raptor355



